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This is not comparable, only to this: ‘a bird rested on it’.

OVERVIEW

The R 13 explained that even if we maintain 1197 XY TWdR R? is 9N, nevertheless
if P21 702107 for the purpose of WYTM PINW >73 it is 72109 since the P10 writes
n"n ,n2 72w XY WK, The X3 asked, why is it 77°w) in the X1, The X3 answered
that we will understand the difference between the X7 and the X5°0 if we compare
it to the mawn of 7w 7Y %Y 19w, but 72100 157 1YY 77Y; where ¥95 27 expounded
the ™7 and the 2°n3 of 72 72w K> 7wK.' Our Moo explains why the need to cite
this mwn of My 75y 1w
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The 13 cites this m1wn (of My 7Y 19W), since 855 21 said his w7 (of X717 7T2W
72v7) on this case of 10w, because this (v 7%y 1ow) is a mwn (as opposed to
7277 102107, which is [merely] a Xnoson).

SUMMARY
It is preferable to explain a 71wn than a XnooN.

THINKING IT OVER

Is mooin (hidden) ques‘[ion4 (only) according to °"w9o that 7pa7% "N is
discussing an 11917¥ 1773y, or is it (only) according to '0I1n77 w70 that it is discussing
a nmIxR mD,S or is it according to both ow?°

' The 105 reads; 7¥2 m2wn X2 W 72 729 X2 W P2 N23Y RWIT 1Y IpT MR3) F207 98 72797 v . The word T3y
is written without a "' (as if it was 72¥) and is read as with a ' (7217). We expound it to mean that 721 (passive)
needs to be like 72v (active) 7°% RM°17 72 AR 72 K°27 72V 4.

2 We could have made this 77w7 (and cited 895 27) even without mentioning the mwn.

? mpoin is explaining why indeed did x99 27 choose to say his w77 on the case of My %Y PW instead of 7%
7P27°. See ‘Thinking it over’.

* See footnote # 3.

> See 170°137 7" X,13 Moo [TIE footnote # 3].

6 See Nﬁ n"a X"wm on °awa "7 'o1n and 2xwn o 2" "aTn 0w,

TosfosInEnglish.com



